7" — 8" Grades 2016

Name: School Team:

Event 1: Computations Without Calculator- 20 points total

Circle your final
answer!
Part I (2 points each)

Give all answers in simplest form.

4% _16x

Ifx=3,y=2

2. -6y +2=3y+11

4. -0.12w=24

5. (% + )2+ %)



7" - 8" Grades 2016

Name: School Team:
Circle your final
answer!
Event 1: Computations Without Calculator
Part 1I (2 points each)

Give all answers in simplest form.

1. Find the number which is 9 less than the GCF (8, 10, 14)

2. Find the number which is 5 more than twice the LCM (8, 10)

3. Find 12% of 42

4. 19is 20% of what?

5.43-3%423_13+0°



7" — 8" Grades 2016

Name: School Team:

. answer!
Event 2: Computations With Calculator- 25 points total v

Consumer Math (5 points each)

1. In astore, a pair of pants which normally costs $42 is on sale for 15% off. Find the sale
price.

2. Abby made 15 baskets in 4 hours. Assuming that she always works at the same rate, how
long will it take her to make 28 baskets? Round to the nearest quarter hour.

3. Brand A cereal sells for $3.49 per box. If the price of the cereal increases to $3.59 per
box, find the percent increase of the price change. Round your answer to the nearest
tenth of a percent.

4. 4 customers have the exact same items. Customer A is given a 10% discount, then a 15%
discount. Customer B is given a 15% discount, then a 10% discount. Customer C 18
given a 25% discount. Customer D is given a 25% increase in price, then a 50%
discount. Which customer spends the least amount of money?

5. Angela earned $712 this month. This is 85% of what she earned last month. Find the
amount of money Angela earned last month. Round your answer to the nearest whole
dollar amount.



7" — 8" Grades 2016

Name: School Team:

Event 3: Mathematical Reasoning With Calculator- 35 points total

—
Circle your final
@
Geometry (7 points each)

Remember to use labels when appropriate

1. Find the value of b.

40 C

2. Find the value of x.
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7t — 8" Grades 2016

Name: School Team:

Event 3: Mathematical Reasoning With Calculator- 35 points total

( Circle your finel
answer!
Geometry Part II (7 points each)

Remember to use labels when appropriate

3. Find the area and perimeter of the shaded region. Both arcs are half of a circle. Use 3.14
for pi.

~2 .-
Tem Tem

4. A rectangular tank 60cm long and 50cm wide is :;- full of water. When 2400cm’ of water
is added to the tank, it fills to the brim. Find the height of the tank.

5. The square seen below has a perimeter of 112cm and has 4 equal circle quadrants
inscribed within. Find the area of the shaded region. Use 3.14 for pi.




7% — 8™ Grades 2016

Name: School Team:

Event 4: Mental Math (no calculator)- 20 points total
(2 points each)

Example:

1y

2)

3)

4)

5)

6)

7)

8)

9

10)




7" — 8" Grades 2016

Name: School Team:

//—ﬂ\‘
Circle your final
Event 5: Team Problems (with calculator)- 100 points total

Part 1: Logical Reasoning (12 points each)

1. An alien planet has developed a new type of currency. 7 red chips can be traded for 1
orange chip. 7 orange chips can be traded for 1 yellow chip. 7 yellow chips can be
traded for 1 green chip, and 7 green chips can be traded for 1 blue chip.

a) Pax has 1 blue chip, 3 green chips, 2 yellow chips, 4 orange chips, and 5 red chips.
He earns 2 blue chips, 5 green chips, 4 yellow chips, 5 orange chips, and 3 red chips.
The bank takes all his chips and trades them so that he has the smallest number of
physical chips possible. What chips does he now have?

b) Sham has 3 green chips, 2 yellow chips, 1 orange chip, and 5 red chips. She
purchases a new spaceship for 2 green chips, 5 yellow chips, 2 orange chips, and 6
red chips. If the salesman gives her the smallest number of chips possible for change,
state the chips that she has now.

c) Ket wants to go on vacation. The vacation package she wants will cost 4 blue chips.
If Ket currently has 2 blue chips, 3 green chips, 4 yellow chips, 5 orange chips, and 6
red chips find what she needs to earn in order to afford the vacation package.



7" — 8" Grades 2016

Name; School Team:

Circle your final
answer!
Event 5: Team Problems (with calculator)- 100 points total

Part 2: Geometry (6 points each)

Remember to use clear labels as needed!
2. Each of the following groups of coordinates make some quadrilateral when mapped on
the coordinate plane. Find the most specific name for each quadrilateral: kite,
parallelogram, rectangle, rhombus, square, or trapezoid.

a) A(0, 0), B(3,4), C(-1,7) and D(-4, 3)
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b) M(1, 0), A(6, 5), T(7, 12), and H(2, 7)
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7" — 8t Grades 2016

Name:

Event 5: Team Problems (with calculator)- 100 points total

School Team:

Circle your final
answer!
-‘“-‘_‘_‘—‘—-—\_____.—--

Part 3: Geometry (6 points each)

3. You have decided to help a neighbor purchase a pool. The neighbor is trying to decide
between purchasing a rectangular pool or a circular pool.

a)

b)

d)

The rectangular pool would measure 10 feet by 16 feet and will be five feet deep.
The circular pool would have a radius of 7 feet and would also be 5 feet deep. Which
pool would hold more water? Use 3.14 for pi.

The tiling for the bottom of each pool will cost $9.86 per square foot. Find the cost to
tile the bottom of each pool. Round your answer to the nearest whole dollar and use
3.14 for pi.

Cost of rectangular pool: Cost of circular pool:

Cleaners Unlimited, a pool cleaning service, charges $85 per month to clean a pool.
Additionally, the service charges 5 cents per cubic foot of water each time it cleans
the pool. Find the cost of cleaning each pool type for 1 year (assuming the pool is
cleaned each month and not closed up for the Winter). Use 3.14 for pi and round
your answer to the nearest whole dollar.

Cost of rectangular pool: Cost of circular pool:

Your neighbor wishes to add a 2-foot walkway around each pool. The walkway
should be made of sand, spread 2in thick. If sand costs $1.50 per square foot at a lin
thickness, find the cost of a walkway for each pool. Use 3.14 for pi and round your
answer to the nearest whole dollar.

Cost of rectangular pool: Cost of circular pool: )



7™ — 8" Grades 2016

Name: School Team:
Circle your final \
\ answer! A
Event 5: Team Problems (with calculator)- 100 points total S

Part 4: Problem Solving (7 points each)

4. Find the solution for each of the given situations.

a) If Aria would give away 2 of her money and TK would give away $10, then Aria
5

would have % as much money as TK. How much more money does TK have than
Aria if they have $140 altogether (without giving any money away)?

b) Miriam gave % of her money to Alex and Hannah gave Alex $20. Alex now has $74.
How much did Miriam have to begin with?

c) % of Roseanne’s savings is equal to -2- of Libby’s savings. If their total savings is
$132, how much is Libby’s savings?

d) Aziz has twice as much money as Osman does at first. After Osman spends $31,
Aziz has three times as much money as Osman. How much money does Osman have
at first?



7th — 8% Grades 2016 K ’ y

Name: School Team:

Event 1: Computations Without Calculator- 20 points total

Circle your final
answer!
Part I (2 points each)

Give all answers in simplest form.
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7t~ 8th Grades 2016

Name: School Team:
Circle your final
answerl
Event 1: Computations Without Calculator
Part II (2 points each)

Give all answers in simplest form.

1. Find the number which is 9 less than the GCF (8, 10, 14) )

QQF(%)\O/M:Q 2-947 1

2. Find the number which is 5 more than twice the LCM (8, 10)
y o Yo +5 =
Lem((8,10)= HO 2(40) 75

3. Find 12% of 42
mn 0 [Oo{o o!% Yy 4.2 OHL{-O,L{& -!-Lllg_:@

4. 19 is 20% of what? :
]G\XS:SO*L‘SS@

5. #-PHP-140 2 w-mwf\ﬂ@



7th — 8th Grades 2016

Name: School Team:
Circle your final
Event 2: Computations With Calculator- 25 points total T

Consumer Math (5 points each)

1. In a store, a pair of pants which normally costs $42 is on sale for 15% off. Find the sale

pree 0.15x43263
L\;)\ - (;J:B; 35:?

2. Abby made 15 baskets in 4 hours. Assuming that she always works at the same rate, how
long will it take her to make 28 baskets? Round to the nearest quarter hour. '
|55 Hhs S0 157290 min Yy L 0= b
¢ lose

o x28 = Fir ts
3. Brand A cereal sells for $3.49 per box. If the price of the cereal increases to $3.59 per

box, find the percent increase of the price change. Round your answer to the nearest
. 10
tenth of a percent =0 2150 ..,

E)

4. 4 customers have the exact same items. Customer A is given a 10% discount, then a 15%
discount. Customer B is given a 15% discount, then a 10% discount. Customer C is
given a 25% discount. Customer D is given a 25% increase in price, then a 50%
discount. Which customer spends the least amount of money?
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5. Angela earned $712 this month. This is 85% of what she earned last month. Find the
amount of money Angela earned last month. Round your answer to the nearest whole
dollar amount.

Loent vp l()(t} So

/_'__“\‘\
.

RS EIPECR 0% At | Sy
RASUGHL SRED,

,3 ghl' |-53,;fj )1"’7 S i“[t: =

XLO
K0 Wor
T dggre o (o0,

""‘-\-._‘___'_,_.--"




7th— 8t Grades 2016

Name:

School Team:

Event 3: Mathematical Reasoning With Calculator- 35 points total

Geometry (7 points each)

Circle your final
answerl

Remember to use labels when appropriate

1. Pind the value of b.
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2. Find the value of x.
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7t — 8" Grades 2016

Name: School Team:

Event 3: Mathematical Reasoning With Calculator- 35 points total

Circle your final
answer!
Geometry Part II (7 points each)

Remember to use labels when appropriate

3. Find the area and pemneter of the shaded region. Both arcs are half of a circle. Use 3.14

for pi. \oue QO -\— Small Q\F(JQ (’3 HX\"I\)’F 7_(} H)@)
lm 5 G M)Um) L (w35’ -
Hoi3em® 192325 em” @_mgflo,% *—ﬂm

Tem Tem

4. A rectangular tank 60cm long and 50cm wide is % full of water. When 2400cm? of water
is added to the tank, it ﬁlls to the brim. Find the height of the tank.
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5. The square seen below has a perimeter of 112cm and has 4 equal circle quadrants
inscribed within. Find the area of the shaded region. Use 3.14 for pi.
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7t — 8th Grades 2016

Name: School Team:

Event 4;: Mental Math (no calculator)- 20 points total
(2 points each)

Example: 9\3 (" No P n"rs)
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7th — 8t Grades 2016

Naine: School Team:

Circle your final
answerl!
Event 5: Team Problems (with calculator)- 100 points total

Part 1: Logical Reasoning (12 points each)

1. An alien planet has developed a new type of currency. 7 red chips can be traded for 1
orange chip. 7 orange chips can be traded for 1 yellow chip. 7 yellow chips can be
traded for 1 green chip, and 7 green chips can be traded for 1 blue chip.

a) Pax has 1 blue chip, 3 green chips, 2 yellow chips, 4 orange chips, and 5 red chips.
He earns 2 blue chips, 5 green chips, 4 yellow chips, 5 orange chips, and 3 red chips.
The bank takes all his chips and trades them so that he has the smallest number of
physical chips possible. What chips does he now have? ‘

\ Hue_ ’3 E’)(&‘w ’Q_nd\\ow Y orange Sred Lﬂ)]JQ

v ble S_cfjro.q.n "lbcuou Soranne grell 2 green
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L e S S L | red

“C o Lgreen 3orany

b) Sham has 3 green chips, 2 yellow chips, 1 orange chip, and 5 red chips. She
purchases a new spaceship for 2 green chips, 5 yellow chips, 2 orange chips, and 6
red chips. If the salesman gives her the smallest number of chips possible for change,
state the chips that she has now. L
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c¢) Ket wants to go on vacation. The vacation package she wants will cost 4 blue chips.
If Ket currently has 2 blue chips, 3 green chips, 4 yellow chips, 5 orange chips, and 6
red chips find what she needs to earn in order to afford the vacation package.
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7t — 8t Grades 2016

Name: School Team:

Clrele your final
answer!
Event 5: Team Problems (with calculator)- 100 points total

Part 2: Geometry (6 points each)

Remember to use clear labels as needed!
2. Each of the following groups of coordinates make some quadrilateral when mapped on
the coordinate plane. Find the most specific name for each quadrilateral: kite,
parallelogram, rectangle, rhombus, square, or trapezoid.

a) A(0, 0), B(3, 4), C(-1, 7) and D(-4, 3)
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7th — 8t Grades 2016

Name:

School Team:

Circle your final
answer!
Event 5: Team Problems (with calculator)- 100 points total

Part 3: Geometry (6 points each)

3. You have decided to help a neighbor purchase a pool. The neighbor is trying to decide
between purchasing a rectangular pool or a circular pool.

a) The rectangular pool would measure 10 feet by 16 feet and will be five feet deep.

The circular pool would have a radius of 7 feet and would also be 5 feet deep. Which
pool would hold more water? Use 3.14 for pi.

__f:_‘g:-_‘_:L cyrele
Cx loxlb=8oD c . x? = 1693

b) The tiling for the bottom of each pool will cost $9.86 per square foot. Find the cost to

tile the bottom of each pool. Round your answer to the nearest whole dollar and use

3.14 for pi. \Gc’r }60 x9q.50= - ‘ 1>s3 H % ﬂ;ﬁ/ét
| iofe 15700 | ? 1517,059%
Cost of rectangular pool:i] Sﬁ Cost of circular pool: dH‘ ‘ 5 , +

¢) Cleaners Unlimited, a pool cleaning service, charges $85 per month to clean a pool.

L
=

|
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Additionally, the service charges 5 cents per cubic foot of water each time it cleans
the pool. Find the cost of cleaning each pool type for 1 year (assuming the pool is
cleaned each month and not closed up for the Winter). Use 3.14 for pi and round

your answer to the nearest whole dollar. ¥ 5,05 (76 3) 1x)2
PR Tt [J55+ 3,07 (3493) ]

¥
Cost of rectangular pool: :ﬁ 1500 Cost of circular pool: | L‘X g

d) Your neighbor wishes to add a 2-foot walkway around each pool. The walkway

should be made of sand, spread 2in thick. If sand costs $1.50 per square foot at a lin
thickness, find the cost of a walkway for each pool. Use 3.14 for pi and round your / L; ,
answer to the nearest whole dollar. o el 2id el 1x 3
[‘L)(f()l' Zx[oi—lxlb*'lﬂl,l-q(?xo:lx 3 [?-'\-b‘) 3"“*’(; J -"4\’;
g ) -
Cost of rectangular pool: g(ab Cost of circular pool: 50 l




7™ —~ 8t Grades 2016

Name; School Team:

Circle your final
answer!
Event 5: Team Problems (with calculator)- 100 points total

Part 4: Problem Solving (7 points each)

4. Find the solution for each of the given situations.

a) If Aria would give away i of her money and TK would give away $10, then Aria

would have % as much money as TK. How much more money does TK have than
Aria if they have $140 altogether (without giving any money away)?

Aria's J O gﬁ)qo Bo-3 jo :55\30_ 54/

f : 1248 - )
.TK\S_H D__,T:EIL—-E:LYJ -ﬂB(J , 113- Elz 0
0 TI has 90
Pria has 350

b) Miriam gave % of her money to Alex and Hannah gave Alex $20. Alex now has $74.
How much did Miriam have to begin with?

(S Omiars g (TTEPET]
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549+3=1%
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T3y
c) % of Roseanne’s savings is equal to g of Libby’s savings. If their total savings is
$132, how much is Libby’s savings? Ik 2

Ruseanne’s suskags @?ﬁﬂm pxi2=3 (Bg)
Libby's Sevimy> L

d) Aziz has twice as much money as Osman does at first. After Osman spends $31,
Aziz has three times as much money as Osman. How much money does Osman have

at first? OSM"\’\ \/\0\_5 XCLOHWJ
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7t — 8th Grades 2016

School Team:
Circle your final
; answer!
/""//_\/
t not °

1) Find the largest possible 5-digit number which is divisible by 3 and é)bu

Name:

TIE BREAKER (with calculator)

‘We lest
e 99 1 %9 e
w \JYJ jo 5\,\3 \C\oﬁ,,_u ?@'.\,\e. J"; pog% T
Uga\w_\ 5u’ ’\wj ‘}"‘L\u §0
F ;,\(),m)*“ R 25 o divky?
2) Find the smallest possible 3-digit number which is divisible by 8 and 6 but 7
not by 10.
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\ Ly no 4o "
3) Find the smaﬂest possﬂ;ie d:wdl git number which is divisible by 3, 4, and 5
but not by 8. Loant Sum 0T ;
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